(0 @) (rad)

a(d cot(d))
5

1072

1073

"
+

-
ad

- |
B =¥
.91()‘_—1_ : | o'l()l._i: L ...! ..I..! L
= F AT +1LF = = JHL): THEL
§ 1a---- T T e - F e - § 1'15 b * '-
o JRRREAE E R +
o 15 fiEs +il
1:_- FIErr T 0.9F _'| 1 - "I Re
o B - H E B B N
0.9 1 > 3 0.8 1 > 3
10° 1 10 0 .1 10° 1 10 0 .1
TP, (PCA t% beamling TP, (PCA t% beamline
—=— DQM_MKFIt_TIbase
—e— DOQM_mkFit5_TT retrainOldFiles125_v2_prelimWP_epoch4
—— DQM_mkFit_TT _Dbaseline_6iter
—— DQM_mkKFit6_TT retrainOldFiles125 v2 prelimWP_epoch2 wSQCD
=~ I —
= : IS
2 S
* >
o}
) o
3 ©

107

1072

Ratio
P
N

+1 I

o p/p.)

....................

S| |

1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

e

TPl[:?T

2 3
(PCA tjbobeamliné'f)



	Contents
	Page 1


